& ZIPFea Idotomod Qo SPTTTINR VTR FSCHERBLD

AT MeFe2: 184

38 Dad
e IR
(Z&310)

TR : 2 no&dned J rraa"g) es0EneL ¢ 100

AR

1. Toof mOouitecd Sgrade w.20.80°. srITEPold B8 AT Ferdon) rHdE Irdw Brcivo, B TP FRFDY,
TROITRNG LHm TOOTT DFm cangdde P M@C)daa (ST Enp) m@émﬁcﬁ ujér{tﬁ: orpRa w@ﬂmoaoﬁomcﬁa
Reg ToegReEih, Woed xRSt dred 6#533&3055&)“ BER LodToNy wrlHdow Ferdo w@.g;:;{"a?a?d 23ed E;
Tagodons WBIL,

2. eydranmd 5@330&: Bed A, B, C ommeD B, Smod Modes =3 Eeronied Tosd, ooy OMR 3T JyFobd) esduan
udnxmﬁ&d »é?dt’) WTm Medes (OFF Eetrf) rlm?m&es: Zons Anh3 %‘*d@ 33@ :.bab HoDeEITO To mam@dm
33 a‘a%ﬂm%ﬁﬂfﬁ: W.20.90°. FTRPOLE JCATHT odRJTe m&éw:ﬁi Pir SRERr/ont deea’ :Sanbdo
O BHFRY BIROUBRATIZS. 1,000 Hed 133 SRBOTOIHRY 303 1..20.60° . L0FT TPCLR SO .

3. T3 o3RRI BB wily Arecttd Xoad coRy Racoms Fogd,
SRaptrua:. B2 Pricng ¥ed L8 wdtdiRomb.

4. B B PAZ 100 TINER) L9 00RTS, (a) AR, 38R : 135, (b) TRRF, TONGE 1 36 — 70, (¢) BoHLT gt T1 - 100,
GeftTestolela® TIoW 4 T2 NP (a’u%ﬁédﬂ LRRoRTER. Lo eu3C By rotiE: BRELIEEE LguEEy,
Bo8) dfﬁ%ﬁm@ 2,008 ae@ wd Lccﬂﬁga’ Fhs; Noodnt eudonesodend L wRATS SR SR ERUHRTR v #ds
r{xbéo RBnB. LB euos & I3 S)e;i e oo SUZORTY BRG w0k, IREWR.

5. @, gondR Am LoNToRhts B3 8 vzl Hovod Soed $eiIt 83 BT Ned THoNeD tRUFERets VAT,
=ng, oo SR, L.90.60°. ma’d TEB TYODGR ITOTT ARUINYRY REIROF.

6. 2, TInert ATRT oI, pop BIeR wgoro. B IF) vogIg TIT c.riazﬁmd wesnd Y (0-25) OR),
esoe?r{e,*ab ﬁ%?a:‘o@arb@da

7. W 6@:&@?\ TENTT0 o,_g,:ﬁ Tadom ErSché) Feoxannd. agzs DYBOL m:b@cj OIRT RNEOMLL B CIRE DtdoD
rbdoa’aL mdéﬁdw

8. waeﬁocb :baaao:bdab Arwdade @odah roed woatd JPese vuzgl TEF TWYODHY, ‘aamsé)a"\ modoz mw@cﬂds
LI, MoDegE) uocb N%Q&d Uectel e veray) 33% aﬁeﬁﬁ DETERoE: tﬁﬁ% 3:%#@;536&@ ud% mﬁi
SASTE e BvessI,

9. FIR ¥yE S wor 1RRELOBITE. INE FINVY ot LOIRTS, HoH ol e FINVRY MR, B
B3 Fe BBRYQ cnaytde Rromunetcs worjimaicdh BBMde BoImmmnCEs.

IR Te e 3ok et of FpinF, R utyduict HE) a3T dLach adaé‘awsmda%cam‘ PR BT, OGN WOF
#ronm wRTndedn :#da@csmiaaie:;zﬁ.

fE“%
mn

Note : English version of the instructions is printed on the back cover of this booklet.

184 (1-A)

SHIKARAT

WWW.SHIKARAT.COM



GENERAL KANNADA

NeRECINGY oINT TP GANDenT
ZORNTOIDXIDA WOTN Toxde  emT
08T LDBJIR, 2LIOR B¢
ﬁmgﬁq nemE rom:

(1) sons

@ i
G) w9,
(4) BRE,

ﬁ”u@emﬁ‘?cicg ZRODF
5@%%5 Ci.@d
(1) non Ro3IT JTROJTew

cﬂem@osmmq

(2) BTWOL T[WOTW TTRACTTE

DN aﬂ&gﬁ; LT a‘i:%&:omfma
NERERT ﬁ:dméaﬁ LBOLTL ST

(1) Soxoox LBORY'
(2) wWosTem LEORY
(3) Toon gFoveod WBAND

(4) TBezmoox wdochor

“eleR, m&efﬁ Sewzvodn, den TR BT,
apkyy QT TpeoTFF -"dﬁm‘_ﬁ, mz;;é.i@;
BPT - WRR, WoRT  wekle' QRheD.
Beow® Eriwe, e Sexf XTIV ﬁtif%,

aééo 3030, wpdne  SoTOF ﬁec&i
ma;pmd’” B ZeNYY -%gmma
as&cécd wYol wodd xdcmm;

(3) ®BOW ROBW ITROTJBeT
(4) ALORF JOTT TTIOTJLIES

3. oo 35553 a%&)croé@od: CIToss

() oneET WLB|D TP H wick

FoLRESID? SW0 mTT DS "
RN 2 w ntetd ssgam\ eI,
0370009 | % =
(1) »TDT T, TvLR® - (2) T/@IEQ  m  wopr  TIoNen

B0, R0.00. FUGAE ADRVTWT TIZ IHNCY.

To. 2.0, HBET T

ge¥ey  AMOWTWIAD  «ow
TR TF0T.
(3) eIV Tvvps -

bt oF T =
we. @oZFeNT B0 (4) =@ piodd vmelmes

Teend Qonew Xedd /

(4) TRIT TENRY LRPB - Tedhdn, @k IJBoW

@ BOOAT TORBSTTODOY.
184 2-A)
SHIKARAT
WWW.SHIKARAT.COM




10.

184

3T O cXRETR?
(1) oRNED

(2) THRTD

(3) n@e

(4) BN

‘DY’ 20w 50?"\1@3 30
03T ?
(1) 308
(2) =BOTRE
(3) s
(4) 3uBW

IS SR

‘Bemz QOTB:

(1) 330d &ogwn
(2) IR

(3) 330k =oogen
(4) Goﬁxcpe#

Aone 2003 AT 2OTTR
BoH3RROToHTR:

(D
(2)
(3)
(4)

WIS PO
Fiplenlers JAL
Sy OB
:go-ogd AT

‘8am’ @ow [F 2BTE moh
ZOWBFIRROBTLIYHTO:

Q)]
(2)
(3)
(4)

omocnon
LocRoo
POTRFWCT

THTSRLRCT

3-A)

SHIKARAT

11.

12.

13.

‘ee)ag; 2By wioen

1 o + 0
(2) @0z + O
(3) ww + B
(4) =22+ 0
SEgg  BOFOTRN 2 oYL
2BBET . B E9AT  WRENTY

Tored3n ITLNRYYD WoF, 3 Y

() TBEFD

Q) SseEs  ROBOTHR

(3) =gesch woPoTPN By BN

4) =

%o TE TRPBFT JT 00T

(1)  233TCH
(2)
(3)

(4)

FETOW
FEI[OR

b devy)

WWW.SHIKARAT.COM




14, wqﬁa_&)ﬁ ISE TR BT LeodBohmy, [17. B 9nz ol MORT JTING:S ﬁo;dée)s

= )
nNeRT ﬁe)é : Snpedbon uo@m@ﬁdcﬂ LOTReF

() Reenos ¢ ATOm SESHTGS 2

(2) B.20.5c0hsT B[O Nedngd () =e2, BRD, deed, Zo3
(3) riraem@ﬁ@% OBNT BodDTY (2) 33, yF, w, 03
(4) F[ozpd=o xgﬁoé (3) mega, 6‘5&, 23‘9’9 LM

(4) =8, Lor, 38, ume:

15. wogcd IEAY oo IS IoRG BT

TFosTRE ATT: 18. " dedr LD Bednd, g wns
_ B@yoon DHEDD” 1Y wIFCIHNATE
(1) Tog xzw3 s, |
(2) #rmodod =N
(1) $ozze
(3) e ARwI
N (2) Ce=g
(4) INDHT BITE
(3) Dews
(4) =eew

16. ‘T Hweodonom ENEESE S =
OISR, W BeTIong R’

19. E 20Xm wchiTs Fow, TFeT.
QRO TOATS =1 IEodnd WP

©T TG, LFemTn wobd.

BVYLP[OTS:
facﬁd@q ‘ mmﬁ@mgﬁ.
() 3=oF 238, ,aiasé I3 OITONT.
() 20
(2) T30 2238, R Nevvs WIS,
(2) 14

(3) BRecIm D3, BNGF VAT,

3) 16
(4) Zseodm D8, ATINe HyysoIEAG.

=& ]

(4) 28 BeTeute UiLDDD.

184 o (4-A)

SHIEARAT _
WWW.SHIKARAT.COM




For more contact us

WhatsApp No = 9742928829

Email ID= Admin@shikarat.com

Telegram Channel SHIKARAT.COM
https://telegram.me/s/shikarat

Facebook Page SHIKARAT.COM
https:/www.facebook.com/shikarat/

Instagram SHIKARAT.COM
https://www.instagram.com/shikarat_com/

Twitter SHIKARAT.COM
https://twitter.com/Shikarat_com

BdSharing is Caring

®¥If it is helpful Please Share with

SHIKARAT B your friends®

Free Online Education

WWW.SHIKARAT.COM


mailto:Admin@shikarat.com
https://telegram.me/s/shikarat
https://www.facebook.com/shikarat/
https://www.instagram.com/shikarat_com/
https://twitter.com/Shikarat_com

20.

21.

22.

23.

24.

184

Mox 2 ook Tes 98 ek AW
TOT PR

(1) BSTEC

(2) Bénsd

(3) 353

(4) Bexrt

'InoRon’ BBy BN,
(1) ®0¢ + BT

(2) Bat+ o™

(3) 0ot + #Ird

(4) =0T + %Iy

(2) Be=
(3) P

(4) SETRI

‘Bremed & STTHHLS Foh:
(1) BH7R

(2) =75e8 ToB

3) SreI BOQ

(4) 3ZeeFBeHE TOY

‘6&}%@%’ =t r\imﬁ%ﬁ U BOR:
(1) 3’?&&-&'

(2) QﬁD

(3) TIPSR

(4) B35,

25,

26.

217.

28.

29.

5-A)

SHIKARAT

[RTPY WERLL IFTRAEY, NTTOR:
(1) @z

(2) 33m0ed

(3) BRI

(4) =N

RecaR $eon BT olmEmd
(1) AEnEd

(2) £ RORTY

(3) T3ATS

(4) 3TNT

‘oz Sem0 e TeRTE ?:"i
AN ESEDTEIEIAY

(1) mpakeg O3 TT

(2) BoounE $03B/TT

(3) 2oBeg s3I

(4) 330 3oIRTT

B3 0doe Tgod3n U S0w TIEE
(1) 3 BoBDITEP
(Z)xowomzﬁrﬁmﬁaﬂa

(3) OT[RTTPFOTORN

(4) 3C3TTF TV,
‘BIFERZT’  QOWTR
oo,

(1) =53 B

(2) 23T T
(3) BFTPFT T
(4) TPLIROT R

WWW.SHIKARAT.COM




30.

184

YN

3N BB 9ET | 31.
ﬁaéaaabm#mi BOBRODA.
_ TN CER IS
(A) AT OB, BTeds : -
(1} 5T
(B) T.oo. @eory -
(ii)mqiodzsail
(C) DBOIT ATTORF® -
(iii)@mﬁsod
(D) BS@YT nond -
(iv) YorFgIonag
50 em\idam% Ok, Foed -
A B) © @
() vy @) () @)
2) ) Gv) G ()
G) G G Gv) @)
@ O (v G Gi)
6-A)

SHIKARAT

Rty ITHEROT WY, MEoCHFT
TEORT  PT[R, o TePod
BoTey DI Bemd IS, wuERT ¥oy,
- B IIR TN FToNORYR
CITW TOOT O BLOTDTYT?

D-THOT
N -  TBOOWONE
(1). SELEN - LBy
(). Pozmz - 35000 e0T
(1i1). Doy - Bmerdn
(iv). 2300, ~  ®omg
N-TROT
TN -  DRTowdRY
(1). TV, - %omz
(m). oS -~ Foorse
(1it). oy - B3LeTTvEeOT,
(1v). BoB, - LB
A-TDOTD
IWERD - TZondn
(i) =e33my - WBDegTeeon
(1), moSRE -~ LB
(1ii). oy - R0mT
(iv). 2300, -  Fmorde
RB=THOT>
TN -  DDToLdN
(). me3sy - swerde
(i1). gRle DAY - BomT
(im). owey ~  wBEOY
(1v). Bod, - ¥3HeoTedeony
ROTT. THOTWI), SO
(1) a-rocx
(2) 2-THoTd
(3) A-r>oy
(4) B-rhoT

WWW.SHIKARAT.COM



AR ' b-'ra ﬁ
32. I SROEHETE SITI 84, ‘shyReso’ ATT BRANAE ©F

OSTosyT?
SeEen DTG SoN. BRCRY LeCT
Y ~ R [ ~
casy FeonBD 03U ? (1) 2PH I, ERWIDH

(2) AT

(3) HoYR D, brRTTH

(3) B05TTW
(4) oo BBOPTHT:
(4) Fezeonw
35. “3ned Zeiohad a%&ws;

I8 TECHR T BRNVA

Tel TR v * ROTH OITBTE,
33. #ogy ITN ICH 3TY L0
W ® c3mOR, 03T wiR BeHSTRI?

OEFEY weFosEm3En. 9330 TWTINED

gR@d, wewen dedod $BERY M 33 - choleerERn

. . SehameS, FEoroeoRs win.
wYECIPMHIH. IYNT JTINFY Lo -

TRE ¢ OICNTY. BT, MEFA. Q) emes - eRan
53@0%@3&}5‘, §E}§§ ATate®
(1) ©=80 :
3) WP - SRRV SN
(2) OTTRT (3) BT DRI

ey, ©mwrIs win,
(3) 203
(4) BroF - 3 on BeRERE,
(4) TR0 SodRerERS wAN.

184 (7-A)

SHIEARAT
: WWW.SHIKARAT.COM




GENERAL ENGLISH

36.

37,

184

Read the following sentence :
“Diamond is the costliest stone.”

When the above sentence is changed to
the positive degree it will become

(1)

Diamond is costlier than any other
stone,

(2)

No other stone is as costly as
diamond.

(3)

Some other stones are as costly as
diamond.

4)

Diamond is costlier than all other
stones.

Read the following sentence :

“The furnitures in the office were
damaged.”

Which of the following sentences is the
correct form of the above sentence ?

(D

The furnitures in the office were
damaged.

(2)

The furnitures in the office was
damaged.

(3)

The furniture in the office was
damaged.

The furnitures were damaged in the
office.

(4)

(8-A)
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Match the following sentences with the
figures of speech used in them :
Sentences :
A. - The sun smiled down on her.
B. That teenaged hoy ate everything in
the house.
C. My dog is like a tornado; she dashes
through the home destroying
. everything she touches.
D. She sells seashells.
E. The world is a stage.
Figures of épeech :
I. Hyperbole
II. Personification
II1. Alliteration
IV. Simile
V. Metaphor

Select the code for the correct answer

from the options given below :

A B C D E

M 1T o m vV v

@ I 1 v o v

@ o 1 v VvV I

W 1 n v v I
WWW.SHIKARAT.COM
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The Antonym of ‘Candid’ is 4l.
(1) Bluff
(2) Devious
(3) Equal
(4) Blunt
Pick the group out of the four groups
given, which has all four correct pairs of
singular and plural nouns and mark the
correct option in answer sheet.
(1) a. ox-—oxes

b. tree — trees

c. box — boxes

d. calf - calf

42,
(2) a. man-— men
knife — knives

c. fungus - fungi

d. mouse — mice
{3) a. dog—dogs

b. fish — fishes

c¢. index —indexes

d. wife — wifes }
(4) a. leaf—lecafs

life — lifes
c. loaf - loafs
d. foot - feet
©9-A)

Out of the four groups given, select the
group that consists of abstract nouns
formed from adjectives.

(1) a. wise — wisdom
h. dark - darkness
¢. poor — poverty
d. young - youth

(2) a. high - higher
b. long — longer
¢. . small — smallest
d. big - bigger

(3) a. wide —width
b. sole — solely
c. few —fewer
d. proud - pride

(4) a. hot - heat
b. cool — cold
¢. dry—dried
d. brave - bravity

Out of the four groups given, choose the
proper group of feminine gender formed
from masculine gender and mark the
correct options in your answer sheet.

{1) a. hero— heroine

b, lad - lass

¢. cxecutor — executors

d. heir — heirs
(2) a. poet— poetess

b. tiger — tigers

c. god — goddess

d. hunter — hunters
(3) a. actor— actress

b. duke — duchess

¢. host — hostess

d. wizard — witch
{4) a. lion - lioness

b. patron — patrons

e, lord —lady

d. master — mistress

SHIKARAT

WWW.SHIKARAT.COM




Directions : For Questions no. 43 and 44, a Directions : For Questions no. 45 and 46, in
sentence has been given in Active or Passive each of the following questions, a sentence has
voice. Out of the four alternatives suggested, been given in direct/indirect speech. Qut of the
select the one which best expresses the same four alternatives suggested, select the one which
sentence in Passive (if given sentence is Active} | pogs expresses the same sentence in indirect (if
or Active (if given sentence is Passive) voice and given sentence is direct) or direct Gf given
shade/blucken the cor responding circle in your | sentence is indirect) speech and shade/blacken
answer sheet. the corresponding circle in your answer sheet.
43. My uncle promised me a present. 45. She said, "I saw a book here."
(1) A present was promised by my (1) She said that she saw a book here.
uncle to me. (2} She said that she saw a book there.
(3} She said that she had seen a book
(2) I was promised a present by my here.
uncle, (4)  She said that she had seen a book
there.
(3) I had been promised a present by
. 46. Sarita said to me, "I will do it now or
my uncle, never."
(4) I was promised by my uncle a (1) Sarita told me that I would do it
then or never.
present,
(2)  Sarita told me that she would do it
NOW OF never.
(3) Sarita told me that she will do that
44. They greet me cheerfully every morning. now or never,
i (4) Sarita told me that she would do it
(1) Every morning 1 was greeted then or never.
cheerfully.
, 47. Choose the word which is nearest in
(2) T am greeted cheerfully by them meaning to the underlined word in the
every morning, following sentence ;
“The somber speech of the leader did very
(3 I am being greeted cheerfully by little to cheer the supporters.”
them every morning. (1) Jarring
(4) Cheerful greeting is done by them (2) Practical
every morning to me. (8) Gloomy
(4) Lengthy
184 (10-A)
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Choose the word which is opposite in
meaning to the underlined word in the
following sentence .

“The archaic buildings that dot the city

speak richly about the country’s

heritage.”
(1) Monarch
(2)
(3)
(4)

Spiritualistic
Modern

Fantastic

Choose the correct one word substitution
for the following sentence from the

choices given below :

“A  military structure where

other

arms,
military
and training

ammunition, and

equipment are stored

is given in their use”

Directions : For questions 51 ~ 83, a passage
has been given. In the passage, some of the
words have been left out. You have to read the
passage and try to understand what it is about.

Then fill in the blanks with the help of the
options given below it and shade/darken the
appropriate circle in your answer sheet.

A belief system is a set of mutually
supportive beliefs. Belief systems are the
framework upon which cultures and societies
function. It is the bond that 51
together, and it is the small voice inside each of

civilizations

us that urges us to be true to what we have
52
from our learning nor can we

been taught. We cannot our spiritual
teachings
separate our beliefs about who and what we
are from our values and our behaviour. We ask
that educational systems 53

religious freedom and our right to live in

our right to

harmony.

51. What is the correct answer for the Blank

(51) ? Select from the options given

below :
(1) Cathedral (1) completes
(2) Sabbtical (2) holds
(3) compels
(3) Arsenal (4) breaks
(4) Depot 52. What is the correct answer for the Blank
(52) ? Select from the options given
below :
Find out the nearest meaning of the (1) distinguish
given word choosing the right answer (2) associate
from the choices given below : (3) separate
{4) modify
“Lucrative” 53. What is the correct answer for the Blank
(1) Having good music (53) ? Select from the options given
below :
(2) Which cannot be compared (1) recognize
(3) Cannot be conquered (2) infer
(3) reach
(4) Producing a sizeable profit {4) diminish
(11 -A)
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Directions : In Questions no. 54 to 57, there
are sentences which are divided and numbered
into three parts, and one of the parts may
contain an error. Identify the error by (1), (2) or
(3) given under the parts of the sentence. If
there are no errors, mark (4) No error.
Shade/blacken the corresponding circle in your
answer sheet.

Example :

Neither he
(1)

nor his team
(2)

were present that day. No error.

3) (4)

Explanation :

The correct answer in this case is Option
(3). It should be “was present that day”.
So you must shade/blacken Option (3) for

this question in your answer sheet.

56.

54. The manager admired the way the
57,
(1)
employee had accomplished all his work
(2)
and appreciating the methods adopted by
him.
(3)
No error.
4)

184 (12-A)
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55.

They are looking for a Public Relations

(1)

Officer with a dynamic appearance

(2)

who can inspire confidence through his
cultivate manner.

(3)

No error.

(4)

A strong earthquake with a magnitude
(1)

of 7-5 on the Richter scale shaked all the
(2)

115 islands located along the Pacific coast.

(3)

No error.

(4)

The safety of the nation is paramount

(1)

and the people should realised the same

(2)

by following the rules and regulations
laid down by the Government.

(3

No error.

(4)

WWW.SHIKARAT.COM



Directions : Questions no. 58 and 59 consist of | __. . : )
Directions : For Questions no. 60 to 63, an
sentences with a blank in each. You have to | . .. _

_ idiom or phrase has been used in the sentence.
choose the best answer which can be filled in You have to choose the sentence which explains
the blank space and shade/blacken the | ,p. o6rrect meaning of that and shade/darken
corresponding circle in your answer sheet. the correct answer in your answer sheet.

. . ' Example :
58. The public attending the rally was
by the politician’s rhetorical Tejas attends Karate classes once in a
speech on development and nationalism. blue moon.
(1) carried off
(1) Tejas attends Karate classes
(2) carried away regularly.
(3) carried on (2) Tejas attends Karate classes rarely.
3) Tejas attends Karate classes
(4) carried through ( !
fortnightly.
(4) Tejas attends Karate classes
frequently but not regularly.
59. The dilapidated building was
to make way for a big mall Explanation :
in the heart of the city.
The answer is Option (2) as the
(1) pulled down underlined part means ‘rare occurrence of
something’. So you have to choose Option
(2) pulled off
(2) and shade/darken the corresponding
(3) pulled through answer in your answer sheet for this
example.
(4) pulledin
184 (13-A }
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60. The project was put on_a backburner 62. Cauvery water sharing has proved to be
while the company focused on immediate an apple of discord.

issues.

_ (1} Cauvery water sharing issue is

(1) The project was hidden from the . ' . )

becoming very complicated with
company board ‘as the company ,
) each passing day.
people wanted other 1ssues o get
resolved first. (2) Cauvery water sharing issue is

(2) The project was considered as a causing too much of disturbance.
burning issue and was put up for
immediate action in front of the (3) Cauvery water sharing issue is
competent authorities. leading to a dispute.

3) The project was set for a high (4) Cauvery water sharing issue is too
priority with other immediate much in the news these days.
issues,

(4) The project was kept at a lower
priority and company focused on
other immediate issues.

63. The scientists participating in Kishor
Vigyanik Protsahan Yojna have old
heads on young shoulders.
61. He does not have any axe to grind in ] o '
thic i £th The scientists participating in Kishor
s e .
1S ssue o compgry Vigyanik Protsahan Yojna

(1) He has to work continuously to
solve the matter as it is important (1) are too dependent on senior
and urgent. scientists.

(2) He does not have any private motive (2) do not have respect for senior
to serve from this issue of the Ny

scientists.
company.

(3) He has undertaken a difficult task (3) are wiser than their age.
much higher than his capability. .

(4) are not hard-working and rely more

(4) He doesn’t have to work sincerely on instincts.
for this issue of the company.

184 (14 - A)
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Directions : Read the following passage and This is specially celebrated in Ujjain
answer the items that follow (Questions no.| Mahakali Mandir, Lal Darwaza, Secunderabad
64 to 67). Your answers to these items should be | for three days with great pomp and gaiety. The
based on the passage only. festival concludes with the immersion of
Ghatam on the third and final day whereas the
Passage .
. -second day is celebrated as Rangam.
The Festival of Bonalu has become one of _ ] )
the official Hindu festivals of newly formed 64, ‘fh:"h Oft the ilo_uo“;mgh 15 not a? true
Telangana State. This is mainly celebrated in statement according to Lhe passage -
the twin cities of Hyderabad, Secunderabad D g}‘i ges;val is celebrated in the
and also in some parts of the State. The ada Masam.
Goddess Mahakali and various incarnations of (2) The festwal. is celebrated in Delhi
Shakti as  Mysamma, Muthyalamma, and Mumbai. :
Pochamma, Yellamma and Peddamma are {3) The festival is associated with food
worshipped in this festival on a great scale. offered to the Goddess.
This is observed generally on the Sundays in (4) Pochamma is an incarnation of
Ashada Masam, in the months of July or Goddess Mahakali.
A t . Th Bonam itself is
ugus every yeat y nafne onam 1 ¥ 188,  On which particular day is the festival
derived from the word Bojanam- that means .
observed ?
meal or food offered to the Goddess. _
(1) Monday
The devotees prepare rice cooked with (2) Tuesday
milk and jaggery in a new brass or earthen pot. (3) ‘Friday
It is adorned with neem leaves and lighted
. . (4) Sunday
lamp on the top of it. They make a procession
on the temple by carrying the pots on their 66. What do you mean by ‘Bonam’?
heads along with new sari, bangles, turmeric
and vermillion to offer Bonalu to the Mother (1) Gold ornaments
Goddess. (2) Wooden deities
(3} Meal or Food
It is believed that the festival is (4) Gatheri ¢ Relati
celebrated to ward off the diseases and usher athering o atives
in good health, peace and prosperity. The 87. What do they immerse on the third day
festival is supposed to have begun in 1869 of the festival 7
when plague broke out in the twin cities. Then (1) Rangam
the people wanted to appease Mother Goddess
whose anger was considered to be the cause of (2) Goddess Mysamma
the epidemic. (3) Bonam
(4) Ghatam
184 (15— A)
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Directions : In Questions no. 68 to 70, each
question contains a paragraph of 6 sentences.
The first and the sixth sentences are given in
the beginning and end and numbered 1 and 6
respectively. The four sentences in the middle
are jumbled and labelled P, @, R and S. You
must identify the proper order of these four
sentences and shade/blacken the option that
correctly identifies this sequence.

Example

1. Once upon a time there lived a kj'ng.

P. One day while hunting he was
attacked by a tiger.

Q. He had three ferocious hunting
dogs.

R. The dogs pounced on the tiger and
saved the king’s life.

S. The king used to take them with
him while going out.

6. He loved them till the end of his life.

The correct sequence is
(1) PQSR

(2) RQSP

3) QSPR

4) SRQP

Explanation :

The correct sequence or order in this
example is QSPR. So you have to
shade/blacken Option' (3) in your answer
sheet.

184

68.

(16— A)

SHIKARAT g

Every year, we see more and more

vehicles in the cities.

In other countries, people are trying

to reduce the amount of oil and

- petrol they use.

As they are aware that it pollutes
the atmosphere and causes global

warming.

Many of them have very big engines
which use a lot of petrol and are a

source of pollution.

They do this by driving electric
vehicles and by wusing public

transport.

I think it’s time we should start to

reduce our fuel consumption and

think about |

seriously our

atmosphere.

The correct sequence is

(1)
(2)
(3)
(4)

PRQS
QSPR
RPQS
QSPR
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69.

184

1. Our society is built with money for | 70.
mortar; money is present in every

joint of circumstance.

P. Money gives us food, shelter and

privacy.

Q. It might be named the social
atmosphere, since in society, it is by

that alone that men continue to live.

R. It permits us to be clean in person,
enables us to help the distresses of

others.

S. Only through that can they reach or

affect one another.

6. And puts us above necessity so that

we can choose the best of life.

The correct sequence 1s

(1) PRSQ
(2) QSPR
(3) SRPQ
(4) RQSP

(17-A)

1. First, I have never met a German
shepherd whose intelligence wasn't

above average.

P. In addition, German shepherds are

dedicated to their owners.

Q. They can learn how to turn door
knobs, follow a ftrail, or identify

illegal substances.

R. My dog Max waits patiently at the
end of the driveway every night

until I come home.

S. Not even a juicy bone will tempt

him to move.

6. Finally, he is usually suspicious of
all strangers, so he barks or growls
when anything or anyone unknown

is near his famly.

The correct sequence is

(1) SQPR
{2) QPSR
(3) QSFR
(4) QPRS

SHIKARAT
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COMPUTER KNOWLEDGE

71.

72,

184

The Footnote Text

characters as

style

(1) 12-point Times New Roman
paragraphs as single-spaced
right-aligned

(2) 10-point Times New Roman
paragraphs as double-spaced
left-aligned

(3) 12-point Times New Roman
paragraphs as double-spaced
right-aligned

(4) 10-point Times New Roman

paragraphs as single-spaced

left-aligned

How will MS Word respond in a repeated

word ?

(1) A Red wavy line under the repeated

defines

73.

and

and

and

and

and

and

and

and

word
(2) A Green wavy line under the
repeated word
(3) A Blue wavy line under the
repeated word
(4) None of the above
(19— A)

SHIKARAT

If you need to double underline a word,

how will you do that ?

(1)

(2)

(3)

(4)

Go to Format menu and then Font
option. Open Underline Style and

choose Double Underline.

From Format menu choose Font
option and then from Font tab open
Underline Style and select Double

Underline.

Select the text, then choose
Format »>> Font and on Font tab,
open Underline Style and choose

Double Underline.

Click Double Underline tool on

Formatting toolbar.
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74, 5 IIAI ée%ﬁ@’d& Zonedx

75. Al, Bl, 02 5033 D2 3re3nvdca TR | 78,
ﬁa%ﬁz{g{ BorRI&EB 0T i@ﬁa‘ﬁ@r{%ﬁg
03T VORI IRNF ?

(1) =MINIMUM(A1,B1,C2,D2)
(2) =MINIMUM(A1:D2)
(8) =MIN(A1,B1,C2.D2)
(4) =MIN(A1:D2)
184 (20-A)
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B. T0F ORIRLT SQ, Wnked 7 @
TR0 EHom PRBDF
BTEREFTIOMYDE,

83 3005 BewRVE), PR /3 X0 ?

QBT oYY, FocIRs PZOTN

xoiféﬁmpa :

1 ASRI

2) B3

(3) ATZYB TER

4) A snde ogo B «nde e
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71.

76. 3ea% (BASIC) Fpengavont TOOTET)

evipley) es@aé%ﬁ@ﬁudda ?
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4) ®cw fuag@f RO B3 Boeed

MS Word ¢ Insert Endnote
(STREE WL ) 2 T6020 ?

Y
o,

1) For D

(2) TFI=T o
(3) ﬁoe@orﬁfv o

(4) Q"
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75.

184

Consider the following statements :

A. Hard reboot is the restarting of the
computer after the power supplied
to the computer is abruptly turned
off.

B. Data loss or operating system
corruption is not observed in hard
reboot.

Which of the above given statements
is/are correct ?
Select the code for the correct answer
‘from the options given below :

71.

(1) Aonly

(2) Bonly

(3) BothAandB

(4) Neither A nor B

Which of the following is the correct way

to find the lowest value contained in the 78

cells A1, B1,C2 and D27

(1) =MINIMUM(A1,B1,C2,D2)

{2) =MINIMUM(A1:D2)

(3) =MIN(A1,B1,C2,D2)

(4y =MIN(A1:D2)

(21-A)

SHIKARAT

76.

Who BASIC

Programming language ?

has developed the

(1) John George Kemeny énd Thomas

Eugene Kurtz

(2) John George Kemeny and Dennis

Ritchie
(3)

Thomas Eugene Kurtz and Grace

Hopper

(4) Grace Hopper and Dennis Ritchie

Where can you find the horizontal split
bar on the MS Word screen ?

(1) On the left of horizontal scroll bar

(2) On the right of horizontal scroll bar

(3} On the top of vertical scroll bar

(4) On the bottom of vertical scroll bar

Where do we find Insert Endnote in

MS Word 7
(1) File Menu
{2) References Menu
(3) Mailings Menu

(4) Design Menu
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80.
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N 0T 20mBerd ?
(1) 8w 2000 BoFRT® Fpere,o SN
B JeUE, F BT, Aedors S
dedche) =R oSN st
BRTODY T 7 BRI,
(2) 5 10w BT PO N,
B WIFNT wNSTY Fedetos @od
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W SREIE.
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YT 2,080 BEFYUOT FRETE,0 SN

&3
d
35 MFE SOWTR) WARL IeE
) e oo =]

B B Ao BRI,

Q

(4) S T ®0T DT IR

ﬁ@-cmegq.

MS Excel 39 23
=ROUND(2.31,0)+CEILING(1.32,1) 3

Efelovtri ﬁqu
(1 3
(2) 4

(3) 3.63

{4) 1.32

(22-A)
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What is Web Crawler ?

(1)

(2)

(3)

4)

It is a computer program that
browses the world wide web in an
automated manner and in an

orderly fashion.

It is a computer program that
browses the world wide web with
the intention to use the free memory

available in the virtual world.

It is a computer program that
assists the world wide web to

establish a quick search engine.

None of the above is correct about

Web Crawler

The correct value of the formula

=ROUND(2.31,0)+CEILING(1.32,1)

in MS Excel is

(1)
(2)
(3)
(4)

3
4
3.63

1.32

81.

Match the Input method (List I) with
the Characteristic (List II) :
List I List IT
(Input Method) (Characteristic)

A. MICR I. Readsthe
pre-printed dark
boxes marked with
ink or dark pencil

B. OMR II. Recognises a

character printed
on a document
using magnetic ink

C. Bar-Coding III. Reads an image
and converts it into
a setof0andl

D.OCR IV. Reads a small bar
of varying
thickness and
spacing

Select the code for the correct answer

from the options given below :

A B C D
(1 I II Im Iv
(2) II I Im  Iv
3) 1 I Iv III

4 I II Iv III

(23-A)
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(3) znd
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Which one of the following is a program | g4
that seems to be doing one thing but is
actually doing another, that is, it sets up
a backdoor in a computer system such
‘that the intruder can gain access later ?
(1) Keystroke logger
{2) Computer phishing
(3) Trojan horse
(4) Spam ping
Which one of the following is a small
piece of data sent from a website and
stored in a user’s web browser while a
user is browsing a website ?
{1) Thumbnail
(2) Computer worm
(3) Cookie
(4) None of the above

(25— A)

C. Chatterbot is

Consider the following statements about
the characteristics of the malicious
software :

A. Stealware is a software that
overwrites affiliate marketing codes
so that revenue is redirected to the
spyware creator rather than the -

intended recipient.

B. Nagware is a software that reminds
the user by popping up a message
when the user starts the program

the wuser is

while using the

application. |

a software which
stimulates intelligent conversation
with one or more human users via

auditory/textual methods.

Which of the statements givén above-

is/are correct ?

Select the code for the correct answer

from the options given below :

(1) Conly

(2) AandBonly

(3) Band Conly

(4) A BandC

SHIKARAT
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Consider the following devices :

Scanner
Kevboard
Printer
Mouse
Monitor

Plotter

Which of the following statements is

correct ?

(1)

(3)

(4)

A, B, C are input devices and D, E,

F are output devices.

A, B, D are input devices and C, K, |

F are output devices.

A, B, D, F are input devices and C,

E are output devices.

A, B, F are input devices and C, D,

E are output devices.

86. Consider the following statements about
COBOL language :

A. COBOL is an object-oriented high
level programming language.

B. COBOL is used in computationally
sensitive areas such as numerical
weather prediction and finite
element analysis and computational

fluid dynamics.

Which of the above given statements

isfare correct ?

Select the code for the correct answer

from the options given below :
(1) Aonly
(2) Bonly
(3) Both A and B

(4} Neither A nor B

87. What is a slide-title master pair in
MS PowerPoint ?

(1) The title area and text area of a
specific slide

(2} A slide master and title master
merged into a single slide
(3) A slide master and title master for a

specific design template
(4) All of the above

(27-A)
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Which PowerPoint view displays each 90.
slide of a presentation as a thumbnail
and is useful for rearranging slides ?
(1) Slide Sorter
(2) Slide View
(3) Slide Show
(4) Slide Master
Consider the following statements about
shortcuts in MS Excel : 1.
A.  Shift + F3 is used to open the Excel
Insert Function window.
B. Alt + Shift + F1 is used to insert a
new worksheet.
C. Ctrl + F9 is used to minimize the
current workbook.
Which of the statements given above
is/are correct ?
Select the code for the correct answer
from the options given below :
(1) Aonly
(2) A and C only
(3) B and Conly
(4) A,BandC
(29 -A)

SHIKARAT

A command in DOS used to set a name
to a disk is

(1) VOL
(2) LABEL
(3) CLS

(4) COPYCON

Consider the following Abbreviations

with their expansions :

A. BASIC - Beginners All-Purpose

Symbolic Instructions Code
B. LIFO - Last In First Out
C. SMTP -

Simple Management

Transfer Protocol

Which of the pairs given above is/are

correct 7

Select the code for the correct answer

from the options given below :
(1) Aonly

(2) BandConly

(3) A and Bonly

(4) A,BandC
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(2)  RoQNB  ReSTORIONY e 0,007, Feednva) TONSL :
FRRROWT 9oeRSoD TITF, I A sTEE
SeTToN oNeBOTLRIT B. @Snarandgs
(3) gom) Wy IoPUT AoE C. g
D. e

ARnenndd RS RARD wow:
R0 ORRYDIR o8 T 05 WEINBERT @U"bg&d@ HReld.
i <, R

ﬁ@@g@ﬁ% mmgd, BReRREN i@é\édd)ﬁ @jO&%ﬁ%”@m pfer foctats m@ﬁ X0

SRRl Remn  edrdmy| IR0
a‘imi@arbq;do (2) AB,C,D
3) D,ACB
(4) oD cIRP TR B E4; D,C.A B
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Which option can be used to find
document statistics in MS Word which

includes number of pages, words,

characters, paragraphs and lines ?
(1) Statistics

(2) Word Count

(3) Thesaurus

(4) Spell Check

ENIAC, EDVAC, EDSAC are the

examples of

(1) First Generation Computers
{2) Second Generation Computers
(3) Third Generation Computers
(4) Fourth Generation Computers

Who is a Blue Hat ?

(1) Hacker that breaks security for

altruistic or non-malicious reasons

(2) Hacker of ambiguous ethics or
borderline legality, often frankly
admitted

{3) Someone outside computer security
consulting firms that are used to
bug test a system prior to its
launch, looking for exploits so that
they may be closed

{4) None of the above

95. Match the language generations (List )

with the languages (List II) they are
associated with :

ListI List I1
(Language {(Languages)
Generations)

A. First I. Structured
Programming -
Languages

B. Second II. Domain Specific

: Languages

C. Third ITI. Assembly Languages

D. Fourth IV. Machine Languages

Select the code for the correct answer
from the options given below :

A B C D
) 0 IV ml I
@ M m 1 I
® IV I 1 1
4 v I U I

Consider the following versions of
Android release by Google :

A Kitkat
B. Marshmallow
C. Lollipop

D. Jellybean

Arrange them in chronological order of
release. '

Select the code for the correct answer
from the options given below :

1) B,AC,D
2) AB,C,D
3) D,ACB
4) D,C,A'B
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@ 1 N
98. FORRUT® wIedon® ATFQ, WL oI A :D' I OR Res

DOTBeR ? _ '

B. ] »— I AND fiet¥

1) AP FO W Yorlmormen e
P Beomwrodnmen 23R ¢Ry| €. ) »— IULNOT e
ST BRET WO FRETD,O. | - .

@ Fov @ ARRE sdwuds| D ) ) IV.NANDdex
BRERNYR) 2oes B3 SRR 2.0%0

D, .

(3)  wet’ TR@ET AT eCoRBY | Fefedny Amvodhnos R0 IRy SOk :
330 TS TR @mrgmr{@aﬁ& A B C D E
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(@ eI cingyme @, ® O IV Im 1V

(4) III 1Iv 1 A It
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Match the following :
List I List IT
A. Windows I. Application
Software
B. Antivirus II. System Software
C. Tally ITL. Browser
D. Internet IV. Utility Software
Explorer

Select the code for the correct answer
from the options given below :

A B C D
(1) II v 1 ItI
(2) II v oI I

3 IV I 11 I

(4) I Imm I IV

What is the bootstrap in the computer

operating system ?

(1) A program to switch off the system
when system’s firewall is breached

or security compromised.

(2) A program to boot out the virus and

bugs found in the system.

99. Consider the following two symbols of
the flowchart design :

C O <>

Which of the following is correct ?

(1} A represents the Start/End and B
represents the Decision Making

(2) A represents the Input/Output and
B represents the Start/End

(3) A represents the Process and B
represents the Connector

(4) A represents the Decision Making
and B represents the Process

100. Match the following :

List Il
A [. OR gate
B. I AND gate

II. NOT gate

IV. NAND gate

Vb byt

V. NOR gate

Select the code for the correct answer
from the options given below :

A B C D E

(3) A program to load other data and SRR v 1 v N8|
programs initially at the time of @ 1 v v I III
booting. 3 I IV I 1 \Y
4) HOI IV I AY 1I
(4) None ofthe above (4)
(33-A)
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DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO

Quastion Booklet Series

SUBJECT CODE : 184

~ QUESTION BOOKLET
COMMUNICATION
(PAPER ID)

sze Allowed 2 Hours Max;mum Marks : 100

INSTRUCTIONS

1. Immediately after the commencement of the Examination, before writing the Question Booklet Sertes
in the OMR sheet, you should check that this Question Booklet does NOT have any unprinted or torn
or missing pages or questions etc. If so, get it replaced by a complete ‘Question Booklet’ of the available
series.

2. Write and encode clearly the Question Booklet Series A, B, C or D, Subject Code and Register Number
in the appropriate space provided for that purpose in the OMR Answer Sheet. Also ensure that
candidate’s signature and Invigilator's signature columns are properly filled in. Please note that it is
candidate’s responsibility to fill in and encode these particulars and any omission/discrepancy will
render the OMR Answer Sheet liable for Rejection.

3. You have to enter your Register Number in the Register Number

Question Booklet in the box provided alongside.

DO NOT write anything else on the Question Booklet.

4. This Question Booklet contains 100 questions, including (a) General Kannada : 1 to 35, (b) General
English : 36 to 70, (c) Computer Knowledge : 71 to 100. Each question contains four responses
(answers). Select the response which you want to mark on the Answer Sheet. In case you feel that
there is more than one correct response, mark the response which you consider the most appropriate.
In any case, choose ONLY ONE RESPONSE for each question.

5. All the responses should be marked ONLY on the separate Answer Sheet provided and ONLY in Black
or Blue Ball Point Pen. See detailed instructions in the OMR Answer Sheet.

6. All questions carry equal marks. Attempt all questions. Every question for which wrong answer has

2

o
* s

been given by the candidate, 1/4th (0-25) of the marks assigned for that question will be deducted.

7. Sheets for rough work are appended in the Question Booklet at the end. You should not make any
marking on any other part of the Question Booklet.

8. Immediately after the final bell indicating the conclusion of the examination, stop making any further
markings in the Answer Sheet Be seated till the Answer Sheets are collected and accounted for by the
Invigilator.

9. Questions are printed both in Kannada and English. If any confusion arises in the Kannada Version,
please refer to the English Version of the questions. Please note that in case of any confusion the
English Version of the Question Booklet is final. :

Use of Mobile Phones, Calculators and other Electronic/Communication gadgets of any kind

is prohibited inside the Examination venue,

RRORY: At T G0t 8 Y I F0oRNTE TR,

184 (36-A)

SHIKARAT

WWW.SHIKARAT.COM




	c326e92a72a02c505f9b7f2819275386a00a65ebd6ebd3b162a27da6be1af29a.pdf
	Shikarat intro
	c326e92a72a02c505f9b7f2819275386a00a65ebd6ebd3b162a27da6be1af29a.pdf

